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Mr. Lynch

Part I:  Place the letter of the correct answer on the line provided!
_____ 1) If the length of one base of a trapezoid is 28 and the length of the other base is 40, What is the length of the midsegment?


a) 70

b) 34

c) 40

d) 28

_____ 2) Which of the following could not be the sides of a triangle?



a) {14,16,18}


b) {10,15,20}




c) {11,13,24}


d) {5,12,13} 


_____ 3) What is the slope of a vertical line?



a) zero



b) positive



c) undefined


d) negative

_____ 4) Two triangles are similar.  The lengths of the sides of the larger triangle are 12, 16, and 20.  The longest side of the smaller triangle is 10.  What is the length of the shortest side of the smaller triangle?


a) 6

b) 8

c) 24

d) 32

_____ 5) Isosceles ΔABC has legs of BA and BC.  If <B = 40º, find the length of <A.


a) 40º

b) 100º

c) 70º

d) 180º

Part II:  Complete each of the following showing all work!!!  Figures are not drawn to scale!!!
6) Quadrilateral ABCD has vertices A(-9,4), B(-3,8), C(1,7), and D(-1,4).  Prove whether or not ABCD is a rhombus.
7) Two consecutive angles of a parallelogram are represented by 7x + 18 and 5x – 6.  Find the value of x.

8) Two complementary angles have measure in a ratio of 2:4.  What is the measure of the larger angle?

9) Find the value of x and each angle:


         Y

 
                   A         (2x + 16)º   (7x + 20)º               J



            N
10) In the accompanying diagram, line m is parallel to line p, line t is a transversal, <A = 3x + 12 and <B = 2x + 13.  Find the value of x and angles A and B.

        A
                   m
          

                   p

                                       B

  t
